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No Supplementayry answer-book will be giyen 10 any candidate. Hence the candidate should write their

answers precisely in the main answer-book only,
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All the parts of one question should be answered at one place in the answer-book. One complete question

should not be answered at different place in the answer-book.
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Write your roll number on question paper before start writing answe

rs of questions.
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Attempt four questions from Part-11, selecting atleast one question from each

section.
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Part-I is compulsory to attempt.
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PART-1/9TT-1
1. Answer the following questions in brief -
Pyt @ i ¥ e AR
@) Who coined the term. “ECOSYStem” and when?
"SPINTET” veg fhaq fra ok a?
(i)  Define the term “Ecotone” .
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(i) What i5 (e significanc€ of Um
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. tivity.
(iv)  Define net primary produ®
X e e siefed A T Ay
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f.;\l (v) What do you mean by hydrog
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(vi)  Enlist any four gases which enhanes 8een-house effect,
I B1ow g oy gt A1 19 g'%ﬁqﬁ;ﬁ:{m%@m
(vii)  Write names of two energy SOurces Which are non-polluting, renewable and
easily available.
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‘~°~ (Viii) Define Ozone hole.
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— (X)  Whatdo you understand by the term Directional Selection’?
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SECTION-A/gve_g;

2. Describe the Nitrogen cycle in detail. Highlight the role of microbes in nitrogen cycle, - [4+2=6]
memﬁwwlmwﬁﬁﬁmaﬁﬁﬁﬁmw
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3.E“j Write short notes on - [2+2+2=6]
N .
Z*S (i)  Food chain

i (i1) Trophic levels
(ii1) ‘Energy flow in an ecosystem
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(i) e
(i) GO ®R .
' e : i i ity in an ecosystem [6] :"
ibe the factors responsible for affecting population density ystem. ‘
4. Descni
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5. :?”C a note on - Eq(\]\TT T faxor afor | el
0 Atmospheric layers ég [3+3=¢)
(i)  Global warming 5
e fodd —
()  TgESTR T
(i) TS afT
” Write an essay on the ‘trends ip urbaﬂiZation 1 India, causes, problems ang .
solution’.
v fagy ford — ;? (6]
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8. Write notes on - (3+3=6]
@) Faunal diversity of _I“dO‘Malayan region
(i)  Desert adaptations in animalg
Arew foredf —
@)  SS—werE & B T ffem
(i)  Sigeil H wverely GTWHU) |
9. Explain the concept of species. Writ;é?_ﬁ detailed note on mechanisms of speciation. [2+4=6]
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10. In a population of rabbits, the ﬁeqﬁxcy of the recessive allele for a specific coat
color trait is 0.3. According to the Hardy-Weinberg equilibrium, calculate the
(6]

following -

()  The frequency of the dominant allele.
(i)  The percentage of rabbits that are heterozygous_for this coat color trait.
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